

Indianapolis / HQ 9345 Delegates Row Indianapolis, IN 46240

WWW.GSTP.COM

G3 Technology Partners Dev Server Implementation City of Columbus, Ohio

February 20, 2012 - R1



INTRODUCTION

Requirements Overview

In reference to contract UTC FL004507

G3 will implement a CIC 3.0 Development Server for City of Columbus as described below.

G3 will provide (1) new HP DL 360xl Server complete with Microsoft Server 2003 SP2 OS and 3-Year HP Care Pack 24x7 on-site support.

It is assumed (1) existing Interaction Media Server which is currently not in service will be re-purposed and implemented for the dev environment.

Included in this proposal are the HMP Resource licenses to support a 4-party conference, 2 simultaneous fax sessions and 4 advanced speech recognition sessions. In addition we have included 4 ports of NuanceAdvanced Speech Recognition and 4 ports of Loquendo RealSpeak Text-to-Speech.

As this is a development environment and not production, all IC, HMP and Loquendo applications will be implemented on the new HP DL 360xl server.

G3 will install all IC, HMP and Nuance software.

G3 will setup and configure the dev environment with the current configuration and test for basic functionality.

Client is responsible for providing adequate rack space and power plus the physical install of the new HP server as well and existing Media Server. In addition Client is responsible for all network connections and the attachment of the servers to the network.

G3 will conduct a pre-implementation meeting with the Client to review roles and responsibilities.

TRAINING

No training is included in this quote.



MATERIAL LIST - BREAKDOWN

Part Name	UTC Reference Number	Retail Price	Qty	Retail Ext
HMP Voice - Software -	70			
TS-515-3.0-MRV1		\$ 12.00	11	\$ 132.00
HMP Conference –	71			
Software -TS-515-3.0-		\$		\$
MRC1		48.00	4	192.00
HMP T.38 Fax –	72			
Software - TS-515-3.0-		\$		\$
MRF1 HMP RTP Audio G.711	70	90.00	2	180.00
only – Software – TS-	73			
515-3.0-MRA1		\$		\$
HMP CSP Resource –	75	10.00	11	110.00
Software - TS-515-3.0-	75			
MRR1		\$		\$
HMP Voice-Switchover –	76	24.00	4	96.00
Software - TS-515-3.0-				
MRV2		\$ 6.00	11	\$ 66.00
HMP Conference-	77	0.00	11	00.00
Switchover - Software -				
TS-515-3.0-MRC2		\$ 24.00	4	\$ 96.00
HMP Fax-Switchover –	78	21.00		00.00
Software - TS-515-3.0-		<u></u>		·
MRF2		\$ 45.00	2	\$ 90.00
HMP RTP Audio G.711	79			
only-Switchover –				
Software - TS-515-3.0-		\$		\$
MRA2 HMP CSP Resource-	81	5.00	11	55.00
Switchover – Software -	81			
TS-515-3.0-MRR2		\$		\$
Nuance Tier B Base	57	12.00	4	48.00
Language Port– Software				
- TS-500-3.0-ATBB	*price is \$1100 per port based on newest pricing sheet*			
		\$		\$
		1,100.00	4	4,400.00
RealSpeak Base Language/Voice	67			
Selection – Software -		\$		\$
TS-507-3.0-NUSE		ъ 650.00	4	э 2,600.00
HP Large Enterprise	127			
Purpose Server–				
Hardware - TH-502-		\$		\$
SV36G5LG		5,588.10	1	5,588.10



PRICING

Price includes applications development, documentation, project management and testing. Applicable taxes not included.

Equipment: (reference UTC numbers above)

Total	\$23,974.27
Labor (57 hours, UTC number 157 @ \$145/hr)	\$8,265.00
Support (UTC number 164)	\$2,056.17
Hardware	\$5,588.10
Software	\$8,065.00